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Section-A 

Q.No Question Marks COs 

1. Discuss the difference between Arithmetic Progression and Geometric 

Progression. 
5 CO1 

2. 

If A=[
2 3
4 1

] and B=[
1 0
2 1

] then which of the following are incorrect. 

(a) (𝐴 + 𝐵)′ = 𝐴′ + 𝐵′ 

(b) (𝑘𝐴)′ =
1

𝑘
𝐴′ 

(c) (𝐴′)′= A 

(d) (𝐴𝐵)′ = 𝐴′𝐵′ 

5 CO1 

3 If |
4 𝑥

−3 5
| = 8 then find the value of x. 

 

5 CO1 

4 

If u and v are the functions of x then by quotient rule of differentiation 

(a) 
𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑑

𝑑𝑥
𝑢+

𝑑

𝑑𝑥
𝑣

𝑣2  

(b) 
𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑣
𝑑

𝑑𝑥
𝑢−𝑢

𝑑

𝑑𝑥
𝑣

𝑣2  

(c) 
𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑢
𝑑

𝑑𝑥
𝑣+𝑣

𝑑

𝑑𝑥
𝑢

𝑣2  

(d) 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑎𝑏𝑜𝑣𝑒 
 

5 CO2 

5 

Value of ∫ 𝑎𝑥𝑛𝑑𝑥 

 

(a) 𝑛𝑎𝑥𝑛−1 + 𝑐 
 

(b) 𝑎
𝑥𝑛+1

𝑛+1
+ 𝑐 

 

(c) 𝑎
𝑛𝑥𝑛−1

𝑛−1
+ 𝑐 

 

(d) 
𝑥𝑛+1

𝑛+1
+ 𝑐  

 

5 CO3 



 

6 

The value of  5C3 will be equal to  

(a) 5C2 

 

(b) 
5!

3!
 

 

(c) 
5.4

3.2.1
 

 

(d) 20 

5 CO4 

Section-B 

7 If 𝐴 = [
2 −4 3
1 3 5

] and 𝐵 = [
1 3

−3 4
−2 2

] then find |𝐴𝐵|. 

 

 

10 CO1 

8 Which term of the series 8, 4√2, 4, 2√2………….. is 
1

 64√2
. Also find the 

sum up to first 6 terms of the given series. 

10 CO2 

9 
Calculate the derivative of 𝑒

𝑥+7

7𝑥−1 using chain rule. 
10 CO2 

10 If 𝐼 = [
1 0
0 1

], 𝐴 = [
0 1
0 0

] show that (aI+bA)3=a3I+3a2bA. 

 

10 
CO3 

11 Calculate the value of  ∫
3𝑥

(𝑥−1)(𝑥−2)(𝑥−3)
 𝑑𝑥. 10 CO3 

Section-C 

12 

(a). Find the local maxima and local minima for the function f(x)=x3-

6x2+9x+15.  Also find the local maximum and local minimum values. 

‘or’ 

       Solve the following using Cramer’s Rule. 

2X+Y+Z= 7 

3X-Y-Z= -2 

X+2Y-3Z= -4 

 

(b). In how many ways can the letters of the word “FARIDABAD” can be 

arranged. 

(c). Find the integral of  
𝑎𝑥𝛼−1

𝑏𝑥𝛽−2. 
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CO4 

 

 

 

 

  




